W07 HERS 28 ATEHNGFLRE5 L g R

PR 11086 4p (B ) TE2m304

BooBb Frch 303 g%

iR ALRE R L N ET iy
R aRERIRE Gk > FRP alRE IR (R BT RIL) ~ R &R

EHEE C MUEESHE  KE LAY RS E (G P AR 2
E - 47}}_1’%,4.2‘43%‘%]’%% (FHEI TAm) 101 BB Hal (%’ﬁ?i&n%‘“‘%{'
R FRERARGE AL JTFRTG AL BRFRILIRL R
if & 31K GFR) - RBFREY FRELFERMNALE FFRTY BT
BaE (3E)
Pdh JOPT 0 A AL E BIg0R (KRR Lo Fee g
TWH BRI R RS AL R R A R A M R s KT 4
e A B g (R ~ EREE R FRRIFR  RA D 2R IR

2l RIS LR e B

CIEN B &

(")

P AR
(%)
o~ HwEA
RAL- 0 AR109 j ATREEEE S 5L o Gete o

S rszf{m;f—f"v‘ 2 F;zﬁw%‘r IV R T AR TRy A g 2
g L Hp AT PR VAP GRS R e
Pk
1osgsmgd wdlTehz « BRI P T inprodpihet o & ke p AR ik d 2 F
P2 18 F B R B
2. pATEYHE S N o LT k- 23 ko s dRA- uE
ol a

RAZRGLR SR ed s d REZ BIREF RPN L F

FhSeE o Fad

i
2P % AR o

pAEgEyER S BEYAP (FEPERP) LHEP PR
1. %% % @ Kk 25000 ~
% | 353%3 i . $25,000% (8 F2+42 )
- (Rr 2R (ol st s Sl 2% (=) 1,250,000
2. P2 R A oa L GEmEy = e

e $25,000* (8 f+42 /)
=1,250,000

e $9,000*42 ,x =378,000

Rx% (=) 1,628,000

aE S TE ¥
= | Graapy |7




RALZ 1109k SRR e E R AR SR

B F

W SRR SR R (TR RR RS

=

142 s or i H = 2t 3= o

F ¥ Jdest & 3 orkg o
2. 109 B T kA yRE W RERT | M T ER R E T AR

3 =312

EooF SIS L 25 L VR Bk T FEE v
LR KR S L REEARM €3k 90 RHEY I RYBLEP B Ik B R

F P

=31 %
e

s s RE /P ! 4 o
P;b,ﬁ t'Lr:J_'F ~ ?IFFFZL EI'EE—’_—J,’—H':‘;;& T



